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Subtracting without Regrouping Name:
Solve each problem. Answers
1.
1) 543 2) 6,984 3) 47 4 168
- 10 - 61 -31 - 14 2,
3,
4.
5 3,725 6 84 0 667 8 3,987 >
- 411 -20 - 32 - 154 6
7.
8.
9 76 100 681 1) 3,577 12) 65 S.
- 10 -410 - 1,245 -13
— — —_— — 10.
11.
12.
13) 536 14) 1,339 15) 154 16) 135 13
- 220 - 112 -21 - 4
- - - 14.
15.
16.
17) 1,963 18) 96 19) 346 200 6,111 17
- 142 -55 - 231 - 3,000
18.
19.
20.
110 [95]90]85] 80| 75] 70] 65] 60] 55 | 50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 533
1) 543 2 6,984 3 47 4 168
- 10 - 61 -31 - 14 , 6923
533 6,923 16 154
3. 16
4. 154
5 3,725 6) 84 7 667 8 3,087 > 3314
- 411 - 20 - 32 . 154 . 64
3,314 64 635 3,833
7 635
8. 3833
9 76 10) 681 1) 3577 12) 65 0, 66
- 10 - 410 - 1,245 -13 71
66 271 2 332 52 10
11. 2332
12, 52
13) 536 14) 1,339 15 54 16) 135 13 316
=220 - 112 - 21 - 4
316 1227 33 131 w1227
15, 33
16. 131
17) 1,963 18) 96 19) 346 20 6,111 - 1821
- 142 - 55 - 231 - 3,000
1,821 41 115 3,111 18, 41
19, 115
0 3111
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
3833 64 635 154
271 2332 533 66 1
6923 16 52 3314
2.
1) 543 2) 6,984 3) 47 4) 168 3.
- 10 - 61 - 31 - 14
— — — 4,
5.
6.
7.
8.
5 3,725 6) 84 ) 667 8 3,987 0,
- 411 - 20 - 32 - 154
- - - - 10.
11.
12.
9 76 100 681 1) 3,577 12) 65
-10 -410 - 1,245 -13
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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